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1. Complete these calculations

(i)2-5=.. v v
X X X x X

(i) 3-9 = ... v vV Vv

(iii) -6 + 3 = ...

(iv) -7+ 6 = ...
X X X X X x Xx
(v)-4+8=.. VvV vv Vv
X X x Xx
(vi) -3+ 5= ..

negative(3) Q1:(i) -3, (ii) -6, (iii) -3, (iv) -1, (v) 4, (vi) 2, Q2:(i) -6, (ii) -4, (iii) 4, (iv) 1, (v) -3, (vi) -5
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2. Complete these calculations

(i)3-9 = vV v V

X X X X X X x x x
(i) 2-6 = ... v v
(iii) -3 + 7 = ... vV v vVvV/<V YV

X x X
(iv)-4 +5= ..

X X x x
(V)-8 +5=.. vvVvvyYy

X X X X x x x x
(vi) -7+ 2= ...

XX X x x x x

2. Complete these calculations

(i)3-9 = vV v V

X X X x X x x x x
(i) 2-6 = ... v v
(iii) -3 + 7 = ... vV v vVvV/<V YV

x x x
(iv)-4 +5 = ..

X x x x
(V)-8 +5=.. vvVvvyYy

X X X X X X x x
(vi)-7T4+2= ..

X X X x x x x
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